JL_

Addition (Vertical) Name:
Solve each problem. Answers
1
nH 22 2) 4 3 4
+12 +4 +1 2
3
4.
4 2 5 94 6) 852 >
i + 1 + 126 5
7.
8.
N9 8 88 9 51 J
+2 + 1 + 8
_Z 10.
11.
12.
100 8 11) 496 12) 3 13.
+2 + 361 +1
- - 14,
15.
13 111 14 11 15 87
+ 9 + 5 + 33
1-10 | 93]87|80| 73] 67| 60| 53] 47| 40| 33|
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Addition (Vertical) Name: Answer Key
Solve each problem. Answers
1 34
) 22 2 4 3 4
+12 +4 +1 2. 8
34 8 5
3 5
4 3
4 2 5 94 6) 852 > %
i + 1 + 126 6 978
3 95 978
7 11
8 89
N9 8 88 9 51 9 °9
+ + +
+2 L 0 010
11 89 59
11. 857
12, 4
100 8 11) 496 12) 3 13, 120
*t2 + 361 1
10 857 4 14. 16
15, 120
13) 111 4 11 15 87
+ 9 + 5 + 33
120 16 120
1-10 | 93]87|80| 73] 67| 60| 53] 47| 40| 33|
[ Math ] www.CommonCoreSheets.com 6 11-15]27]20f13| 7| O
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Addition (Vertical) Name:
Solve each problem. Answers
59 8 34
10 857 4 1
3 95 11
2,
) 22 2) 4 3 4 3,
+12 +4 +1
- - 4.
5.
6.
7.
49 2 5 94 6 852
i + 1 + 126 8.
9.
10.
11.
N9 8 88 9 51 "
+ 2 + 1 + 8
100 8 11) 496 12) 3
+2 + 361 +1
M odified 1-10 | 9283 75|67 [58[50] 4233|2517 |
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